202502 - TOWN OF ELIZABETH DEPOT PARKING LOT

Town of Elizabeth

STATEMENT OF QUALIFICATIONS



STATE OF COLORADO

ELITE INDUSTRIES, INC.
535 SOUTH GILBERT STREET
CASTLE ROCK, CO 80104
PHONE: 303.722.0700 FAX: 970.224.3906
WWW.ELITEINDUSTRIESINC.COM

COMPANY INTRODUCTION

Elite Industries is a locally owned business that has served the Colorado community since 2014, specializing in horizontal construction for the Colorado community. Our clients range from cities, school districts, counties, and private firms. We have successfully carried out all contracts made as we are dedicated to great customer service while bringing quality, experience, and professionalism to every project.

Contractor: Elite Industries, Inc.

ICC Certified / Class B General Contractor License #250553161 Irrigation Technician Certifications & HDPE Fusion Certified

Pesticide Applicator Certified

OSHA 10 & 30

Main Office

535 S. Gilbert Street, Castle Rock, CO 80104

Office Phone: 303.722.0700

Fax: 970.224.3906

Website: www.eliteindustriesinc.com

Office Hours: Monday to Friday, 7am – 5pm

Lead Point of Contact

Brad Bensko, President

Email: brad@eliteindustriesinc.com

Cell: 970.980.5581

Additional Locations

5607 E. 48th Avenue, Commerce City, CO 80216

20504 CO Rd 54, Greeley, CO 80631

805 N Mason Street, Fort Collins, CO 80524

KEY MANAGEMENT AND FIELD PERSONNEL

Brad B. - President

Bachelor's Degree of Science 'Horticulture and Landscape Design'

17 years of industry experience & Lead Designer

Chris K. - Lead Estimator

12 years of industry experience

Marshall P. - Chief Operations Officer

15 years of industry experience

Mario M. - VP of Operations

17 years of industry experience

Chris R. - Sr. Project Manager

15 years of industry experience

Patrick L. – Project Manager

8 years of industry experience

Josh T. - Sr. Construction Superintendent

13 years of industry experience

Bob F. - Construction Superintendent

28 years of industry experience

Jeremiah G. - Lead Civil Foreman

8 years of industry experience

Jorge G. – Lead Landscape Foreman

6 years of industry experience

Tomas L. - Lead Equipment Operator

6 years of industry experience

OFFICE PERSONNEL

Larissa G. - Office Manager

larissa@eliteindustriesinc.com

Rebecca W. – AR/AP Manager

info@eliteindustriesinc.com

EXPERIENCE AND CAPABILITIES

Squires Park - City of Westminster

Present: 15 Acre Park Renovation. Demo existing baseball field and backstop, existing playground, 19,340 sq. ft. of concrete, and landscaping. Install new 2-5 and 5-12 playground equipment, zip line, embankment slide, and sandblasted animal boulders. Clear and grub 92,308 sq ft of topsoil, 36,200 sq. ft. of new ADA compliant 6" concrete flatwork, 315 tons of boulder walls, 70,561 sq. ft. of native seeding, 21,141 sq. ft. of dog tuff plugs, plant material, and other misc. landscaping items.

Current Contract Amount: \$2,008,000 Anticipated Completion: July 2025 – 50% complete

Contact: Karley Olson, Sr. Project Manager - Anser Advisory

P: 303.918.0317 E: Karley.Olson@anseradvisory.com

Bates & Logan Phases I, II & III - City of Englewood

Present: 6 Acre Park Renovation. Install new CXT restroom facility, renovated utility hook ups, 2 – ICON park shelters, 25,000 sq. ft. of concrete flatwork, post tension basketball court, seating walls, drainage improvements, renovate entire irrigation system, electrical upgrades, new 2-5 and 5-12 play equipment, bike skills course, site furnishings, and misc. landscape items.

Current Contract Amount: \$3,101,000 Anticipated Completion: June 2025 – 63% complete

Contact: Tim Holt, Parks Supervisor

P: 720.636.4736 E: tholt@englewoodco.gov

Cherry Meadows Park - City of Brighton

Present: 5 Acre New Park Construction. Clear and Grub 81,750 sq. ft. of native soil, strip and stockpile 3,090 CY of topsoil, and export 3,220 CY of excess material. Install 14,730 sq. ft of ADA compliant 6" concrete sidewalks, new 2" water tap, 2" water meter w/ vault, and 155 liner feet of 8" SDR 35 storm water pipe. New 2-5 and 5-12 playground, shade shelters, site furnishings, new irrigation system, and misc. landscape items.

Current Contract Amount: \$2,242,000 Anticipated Completion: June 2025 – 74% complete

Contact: Kyle Sylvester, Assistant Director of Parks and Open Space

P: 303.655.2089 E: ksylvester@brightonco.gov

Monaco Park - City of Commerce City

Fall 2024: 9 Acre Park Renovation. Demo existing play equipment, concrete, and landscaping. Install 45,000 sq. ft. of ADA compliant 6" concrete flatwork and sidewalks, new 10,000 sq. ft. asphalt parking lot including new curb and gutter, new utility connections (sewer, water, and electrical) for CXT restroom facility, 3 – ICON picnic shelters, new post tension basketball court, renovate entire irrigation system, new 2-5 and 5-12 play equipment, site furnishings, new outdoor work-out center, and misc. landscape items.

Completed Contract Amount: \$2,669,000

Contact: Tony Jaramillo, Parks Capital Project Manager

Misc. Parks - Hyland Hills Metro District

Summer 2022: 11 Acre Bell Roth Park Irrigation Renovation: Tie into 8" HDPE pump station to allow for 400 GPM flow allowing entire park to get ½"-1" of water during a 4-hour watering window. Materials included Toro Sentinel controller, 6" B0ermad master valve, 6" flow sensor, 37 brass electric control valves, 250 stainless steel Rainbird rotors.

Completed Contract Amount: \$589,000

Winter 2024: 17 Acre Clear Creek Valley Park Renovation. Install 3 ICON shelters with electrical and stone masonry, 17,530 sq. ft. of concrete flatwork and sidewalks, 18" RCP drainage improvements, electrical pathway and parking lot upgrades, irrigation renovation, and misc. landscape items.

Completed Contract Amount: \$641,830

Contact: Steve Heger, Sr. Project Operations Manager

P: 303.489.8051 E: sheger@hylandhills.org

FINANCIAL REFERENCES

Bank of Colorado

Ryan Gloden, Branch Manager

P: 970.223.8200

E: ryan.gloden@bankofcolorado.com

RLI Insurance Company

Evergreen Surety (bonding agent) - Tom Patton, President

P: 303.520.0249

E: tpatton@evergreensurety.com

PROPOSED MAJOR EQUIPMENT

2023 Kubota SVL75 Tracked Skid Loader

2021 Toro Dingo TX525 with attachments

2019 Toro Dingo TX1000 with attachments

2025 KX040-4R3A Excavator

2024 Kubota Stand-on Compact Loader

2018 Ditch Witch RT45 Trencher

2023 Kubota KX057 Mini Excavator E26

2024 Kubota KX080-5R3A Excavator

2021 FINN T75 Hydro seeder

2022 Bomag Trench Roller

2019 John Deere 524L Wheel Loader

2025 John Deere 644 G-Tier Wheel Loader

2014 John Deere 772G 6WD Motor Grader

Standard Construction Fencing

2023 Plate Compactor

2022 Hamm 54" Padfoot Roller

Dump Trucks

1,000 Gallon Water Trailer

Misc. Hand Tools

PROPOSED SUBCONTRACTORS

Colorado Asphalt Services, Inc.

Item: Asphalt (12% of project total)

Gray Matter Construction LLC

Item: Concrete (14% of project total)

Kolbe Striping

Item: Striping (less than 1% of project total)

R. W. Bayer & Associates

Item: Surveying (less than 2% of project total)

PROPOSED MATERIAL SUPPLIERS

Ferguson Ent

Rio Grande

Ewing Landscape Supply

Site One Landscape Supply

Core & Main

CPS Distributors

DBC Irrigation Supply

Old Castle Precast











SECTION 00300

BID FORM

PROJECT IDENTIFICATION:

TOWN OF ELIZABETH

2025 Mian Street Depot Parking Lot

CONTRACT IDENTIFICATION NUMBER:

THIS BID IS SUBMITTED TO:

Town of Elizabeth 151 S. Banner St. Elizabeth, CO 80107

THE UNDERSIGNED BIDDER, having familiarized itself with the work required by the Contract Documents, the Site where the Work is to be performed, local labor conditions and all laws, regulations and other factors affecting performance of the Work, and having satisfied itself of the expense and difficulties attending performance of the Work.

HEREBY PROPOSES and agrees, if this Bid is accepted, to enter into Agreement in the form attached, to perform all work, including the assumption of all obligations, duties and responsibilities necessary to the successful completion of the Agreement and the furnishing of materials and equipment required to be incorporated in and form a permanent part of the Work, tools, equipment, supplies, transportation, facilities, labor, superintendence and services required to perform the Work; and Bond, insurance and submittals; all as indicated or specified in the Contract Documents to be performed or furnished by Contractor in accordance with the following Bid prices (Contractor must submit on Base Bid and Bid Alternates, if any, to be considered).

A. The undersigned Bidder agrees to furnish the required Bonds, certificates of insurance on ACORD Form 27, and copies of applicable insurance policies and enter into Agreement within TEN (10) days after acceptance of this Bid, and further agrees to complete all work covered by the Bid, in accordance with specified requirements and in accordance with the following schedule:

i. Notice of Award:

April 15, 2025

ii. Substantial Completion:

June 5, 2025

iii. Final Completion:

September 1, 2025

B. LIQUIDATED DAMAGES. Owner and Contractor recognize that time is of the essence of this Agreement and that Owner will suffer financial loss if the Work is not substantially completed within the time specified above, plus any extensions thereof allowed in accordance with the General Conditions. They also recognize the delays, expense and difficulties involved in proving, in a legal or arbitration proceeding, the actual loss suffered by the Owner if the Work is not substantially complete on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty) Contractor shall pay Owner Seven Hundred Fifty Dollars (\$750) for each day past substantial completion.

C.	BID SECURITY, Enclosed herewith is the required Bid Security, in the form of Cashier's
	Check Bid Bond (strike one), in the amount of 5 1 Dollars (\$
	which the undersigned Bidder agrees is to be forfeited to and become
	the property of owner, as liquidated damages, in connection with the Bid Security.
	should this Bid be accepted and Bidder fails to enter into Agreement in the form
	prescribed and to furnish the required Bonds within ten (10) days, or should Bidder fail to
	enter such agreement and give such bond or bonds, if Bidder fails to pay to owner the
	difference between the amount specified in this Bid and such larger amount for which
	owner may in good faith contract with another party to perform the Work covered by this
	Bid, but otherwise the Bid Security will be returned upon Bidder signing the Agreement
	and delivering the Performance Bond, Labor and Materials Payment Bond certificates of
	insurance on ACORD Form 27 and copies of applicable insurance policies.
	· · · · · · · · · · · · · · · · · · ·

- D. BID REJECTION. In submitting this Bid it is understood that Owner reserves the right to reject any and all Bids, to waive any informality, technicality or irregularity in any Bid, to disregard all non-conforming, non-responsive, conditional or alternate Bids, to negotiate contract terms with the Successful Bidder, to require statements or evidence of Bidder's qualifications, including financial statements, and to accept the proposal that in the opinion of the Owner is in its best interest. It is understood that this Bid may not be withdrawn during a period of sixty (60) days after the scheduled time for the receipt of Bids.
- E. BID IS GENUINE. The undersigned Bidder hereby certifies (a) that this Bid is genuine and is not made in the interest of, or in the behalf of, any undisclosed person, firm, or corporation, and is not submitted in conformity with any agreement or rules of any group, association, organization, or corporation; (b) that Bidder has not directly or indirectly induced or solicited any other bidder to put in a false or sham Bid; (c) that Bidder has not solicited or induced any person, firm, or corporation to refrain from bidding; and (d) that Bidder has not sought by collusion to obtain for itself any advantage over any other Bidder or over the Owner.
- F. EQUIPMENT RENTAL Attached herewith is a copy of Bidder's equipment rental rate schedule and a copy of rate schedules related to protection of work during winter working conditions.
- G. INTERESTED PARTIES. The full names and addresses of parties interested in this Bid as principals are as follows:

355	MOUSTRIES, INC BRAD BENSKO, PRESIDENT GILBERT STREET, CASTLE ROCK, CO & 0104	
_		
-		

- H. In submitting this Bid. BIDDER represents, as more fully set forth in the Agreement, that BIDDER has examined copies of all the Bidding Documents.
- I. BIDDER will complete the work, as defined by OWNER to include all phases and schedules, for the following prices (attach additional sheets if necessary):
- J. BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.
- K. The following documents are attached to and made a condition of this Bid:
 - a. Required Bid Security
 - b. A tabulation of Subcontractors, suppliers and other persons and organizations required to be identified in this Bid
 - c. Required Bidders Qualification Statement with supporting data

SUBM	ITTED ON _	APRIL 14	, 20 _25 _	
If BIDE	DER is:			
An Ind	<u>ividual</u>			
	Ву	NIA (SEAL)		
	1	_		
		(Individual's Name)		
	doing busine	ess as		
	Business ad	dress:		
		<u></u>		
		-		
	o o	-		
	Phone No	_		

<u>A Partne</u>	<u>rship</u>
В	У
	(SEAL)
: 	
	(Firm Name)
_	(General Partner)
	(General Faither)
В	usiness address:
	_
3000	
	-
Pl	hone No.:
A Corpora	ation
·-	ELITE INDUSTRIES, INC.
::==	(Corporation Name)
	COLORADO
	(State of Incorporation)
Ву	BRAD BENSKO
	(SEAL)
1	PRESIDENT (Title)
	(Tille)
(C	orporate Seal)
Att	test: VARISSA GARCIA JUNY
	(Socretary)

	Business ad	dress:				
	535 S	GILBERT	STREET,	CASTLE	ROCK,	40,08 C
	Phone No.:	303.722	· 6700			
A Joint	<u>Venture</u>					
	Ву	M	Δ			
		(Na	ame)			
		- (^	dress)			
	Ву					
		(INE	ame)			
			- 			
		(Ac	ldress)			

(Each joint venture must sign. The manner of signing for each individual, partnership and corporation that is a party to the joint venture should be in the manner indicated above.)

END OF SECTION

	Engineers	Contractors	T -			managa D. I
Description	Engineers Quantity (Bid)	Takeoff	Unit	Ur	nit Price	ntractor Bid ngineers Qty)
<u>EARTHWORK</u>	i					
Mobilization	1	1	EA	\$	21,117.00	\$ 21,117.00
Permits	1	1	LS	\$	1,000.00	\$ 1,000.0
Cut to Fill	1,993	2,000	CY	\$	20.00	\$ 39,860.0
Excess Cut to Haul off Site		0	CY	\$		\$
Imported Fill Material	3,554	3600	CY	\$	95.00	\$ 337,630.00
Fine Grading		6780	SY	\$	3.60	\$
Temporary Sediment Basins	1	1	EA	\$	9,000.00	\$ 9,000.00
Clearing/Grubbing	2	2	AC	\$	17,424.00	\$ 34,848.00
Topsoil - Strip, Stockpile, & Redistribute (6 Inch)		1100	СУ	\$	20.00	\$
PAVING						
Mobilization	1	1	EA	\$	21,675.00	\$ 21,675.00
Permits	1	1	LS	\$	800.00	\$ 800.00
Remove Asphalt Pavement	106	106	SY	\$	27.00	\$ 2,862.00
Saw Cut Existing Asphalt	125	125	LF	\$	2.00	\$ 250.00
After Utility Install - Cut Grade to subgrade design	1,640	1640	SY	\$	3.35	\$ 5,494.00
Haul excess dirt to onsite stockpile (after cutting to subgrade) - Per 1000/CY		per 1000 CY	CY	\$	2,000.00	\$ -
Subgrade Prep (rip and re-compact)	6,558	6800	SY	\$	4.80	\$ 31,478.40
Local - Asphalt - 5" Thick	4,674	4675	SY	\$	41.35	\$ 193,269.90
8" Base Course "ABC" - Prep (Grading and Compaction to 1' beyond back of curb)	6,558	6800	SY	\$	26.45	\$ 173,459.10
Adjust Manholes/Cleanouts	2	2	EA	\$	650.00	\$ 1,300.00
Adjust Valves	4	4	EA	\$	350.00	\$ 1,400.00
Public Signage	13	13	EA	\$	650.00	\$ 8,450.00
Street Name Signs	1	1	EA	\$	650.00	\$ 650.00
Striping - White Line - 6" Solid	2,736	2750	LF	\$	2.00	\$ 5,472.00
Striping - Crosswalk (2' x 8' Bar)	5	5	EA	\$	730.00	\$ 3,650.00
Striping - Stop Bar	8	8	LF	\$	96.00	\$ 768.00
Striping - Road Markings	12	12	EA	\$	350.00	\$ 4,200.00
CONCRETE						
Mobilizaton	1	1	EA	\$	12,011.00	\$ 12,011.00
Permits	1	1	LS	\$	200.00	\$ 200.00
Remove Curb & Gutter	50	50	LF	\$	18.00	\$ 900.00
Remove Sidewalk	30	30	SY	\$	30.00	\$ 900.00
Curb & Gutter - Mountable w/ 2' Pan (price includes subgrade prep)	1,771	1775	LF	\$	42.00	\$ 74,382.00
Curb & Gutter - Mountable w/ 1' Pan (price includes subgrade prep)	922	925	LF	\$	33.00	\$ 30,426.00
Crosspan Curb Chase	1	1	LS	\$	9,100.00	\$ 9,100.00
'Concrete Sidewalk (6" thick) (price includes cutting to	32	32	LF	\$	115.00	\$ 3,680.00
ubgrade	771	770	LF	\$	74.00	\$ 57,054.00
.0' Gravel Trail (6" thick) (price includes cutting to subgrade & ubgrade prep)	271	275	SY	\$	22.45	\$ 6,083.95
andicap Ramps and Respective Landings	9	9	EA	\$	4,325.00	\$ 38,925.00

g gar gan

Fence (Relocated Smoking Area)	140	141	LF	\$	40.00	\$ 5,600.00
Concrete (Pad for Bathrooms)	96	96	SY	\$	135.00	\$ 12,960.00
WATER						
Mobiliazation, Overhead and General Conditions	1	1	LS	\$	4,097.00	\$ 4.007.00
Permits	1	1	LS	-		\$ 4,097.00
Connect to Existing Water Infrastructure	2		_	\$	650.00	650.00
Water Service 2"	3	2	EA	\$		 16,950.00
PVC Pipe (C900) 2"	86	3 87	EA	\$	1,552.00	\$ 4,656.00
PVC Pipe (C900) 8"			LF	\$	103.00	\$ 8,858.00
Bend 2"	226	236	LF	\$	80.00	\$ 18,080.00
Bend 8"	2	2	EA	\$	550.00	\$ 1,100.00
Bend 12"		0	EA	\$		\$
Valve 2"		0	EA	\$		\$ 1 200 20
Valve 8"	1	1	EA	\$	1,300.00	\$ 1,300.00
Tee 2"x2"	2	2	EA	\$	4,300.00	\$ 8,600.00
Tee 8"x8"	3	3	EA	\$	700.00	\$ 2,100.00
Tee 8"x6"	1	1	EA	\$	1,300.00	\$ 1,300.00
	1	1	EA	\$	1,130.00	\$ 1,130.00
Cross 8"x8"		0	EA	\$		\$ *
2" Plug with Blow-Off	1	1	EA	\$	3,000.00	\$ 3,000.00
8" Plug with Blow-Off	1	1	EA	\$	3,225.00	\$ 3,225.00
Blow-off 8"		0	EA	\$		\$
Reducer 8"x6"		0	EA	\$		\$
Air Release Manhole and Vent Pipe		0	EA	\$		\$ ж
8" Blow off assembly		0	EA	\$		\$ = =
Hydrant Assembly (Includes Tee, Valve, & DIP)	1	1	EA	\$	11,000.00	\$ 11,000.00
SANITARY SEWER			+-	_		
Mobilization, Overhead and General Conditions	1	1	LS	\$	1,130.00	\$ 1,130.00
Permits	1	1	LS	\$	350.00	\$ 350.00
Connect to Existing Sanitary Main	1	1	EA	\$	2,500.00	\$ 2,500.00
Sanitary Service 4"		3	EA	\$	1,500.00	\$ 2,300.00
Manhole 4'	1	1	EA	\$	5,900.00	\$ 5,900.00
Manhole 5'		0	EA	\$	3,300.00	\$ 3,300.00
4" Sanitary Clean Out	5	5	EA	\$	950.00	\$ 4,750.00
PVC Pipe 6"	303	303	LF	\$	30.00	\$ 9,090.00
PVC Pipe 8"	303	0	LF	\$	30.00	\$ 3,030.00
STORM SEWER						
Mobilization, Overhead and General Conditions	1	1	LS	\$	10,396.00	\$ 10,396.00
Permits	1	1	LS	\$	350.00	\$ 350.00
Connect to Existing Storm		1	EA	\$	4,500.00	\$ -
RCP Pipe 15"		0	LF	\$	2	\$ -
RCP Pipe 18"	277	275	LF	\$	185.00	\$ 51,245.00
RCP Pipe 24"	32	32	LF	\$	225.00	\$ 7,200.00
RCP Pipe 30"		0	LF	\$	5 :	\$ 19
Manhole 4' Diameter		1	EA	\$	5,900.00	\$
Manhole 5' Diameter	2	1	EA	\$	6,500.00	\$ 13,000.00
Manhole 6' Diameter		0	EA	\$		\$; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ;
nlet Type R - 5'		0	EA	\$		\$
nlet Type R - 10'	1	1	EA	\$	11,000.00	\$ 11,000.00
nlet Type R - 15'	1	1	EA	\$	15,500.00	\$ 15,500.00

5 at 15 m

GRAND TOTAL						\$	1,591,134.00
SHPIP Wrap Insurance	111	1	LS		2.5%	\$	38,808.15
Sub-Total						\$	1,552,325.85
GENETI GRID GOOR		0	LF	\$	*	\$	
Other: Curb Sock		0	AC	\$	· <u>*</u> 2	\$	-
Termporary Batch Plant Restoration		0	EA	\$	8,900.00	\$	
VTC with Wheel Wash	1	1	EA	\$	5,000.00	\$	5,000.00
Vehicle Tracking Control	1	0		\$	F 000 00	\$	F 000 00
Terracing		0	EA	\$		\$	S 200
Temporary Stream Crossing		0	LF	\$	16:	\$	C#1
Temporary Slope Drain	2.7	3	AC	\$	4,400.00	\$	11,880.00
Surface Roughening	553	553	SY	\$	2.50	\$	1,382.50
Stabilized Staging Area	F53	0	LF	\$	5.00	\$	4 200 50
Silt Fence (Vertical)	1,252	1250	LF	\$	4.00	\$	5,008.00
Silt Fence	1,252	1.4	AC	\$	19,602.00	\$	19,602.00
Seeding and Mulching	1		EA	_	10.603.00	_	10 (03 00
Sediment Trap	423	0	+	\$	4.00	\$	1,700.00
Sediment Control Log	425	426	AC LF	\$	4,140.00	\$	16,560.00
Sediment Basin	31	30 4	LF	\$	35.00	\$	1,085.00
RRB for Culvert Protection		30	LF	\$	450.00	\$	1,800.00
Reinforced Rock Berm	4	0	LF	\$	450.00	\$	4 000 00
Reinforced Check Dam	40	40	LF	\$	30.00	\$	1,200.00
Inlet Protection	40	390	SY	\$	9.00	\$	3,546.00
Erosion Control Blanket	394	0	LF	\$		\$	2.546.00
Diversion Ditch		0	EA	\$		\$	-
Dewatering	8/8	878	LF	\$	3.00	\$	2,634.00
Construction Markers	878	0 070	LF	\$	3.00	\$	2 624 00
Construction Fence	1	1	EA	\$	2,000.00	\$	2,000.00
Concrete Washout Area	1	0	LF	\$	2.000.00	\$	2 000 00
Compost Filler Berm		0	SF	\$		\$	
Compost Blanket		0	LF	\$	#	\$	*
Check Dam				_			
GRADING, EROSION, & SEDIMENT CONTROL			-				
Riprap (Type H)		0	SY	\$		\$	
Riprap (Type M)	112	112	SY	\$	188.00	\$	21,056.00
Riprap (Type VL)		0	SY	\$	1	\$	-
Concrete Trickle Channel (3' Wide) (6" Thick)	114	115	LF	\$	95.00	\$	10,830.00
Spillway Cutoff Wall	45	45	LF	\$	234.00	\$	10,530.00
Outlet Structure	1	1	EA	\$	23,500.00	\$	23,500.00
Forebay (70 SY)		0	EA	\$		\$	
Forebay (30 SY)	1	1	EA	\$	21,250.00	\$	21,250.00
FES 30"		0	EA	\$		\$	
FES 24"		0	EA	\$		\$	-
FES 18"	3	3	EA	\$	3,650.00	\$	10,950.00
FES 15"		0	EA	\$	3.	\$	-
Inlet Type D		0	EA	\$	340	\$	
Inlet Type C	1	1	EA	\$	11,500.00	\$	11,500.00

- 1. Using Onsite Materials (Estimate Total Qtys) Provide the amount of credit per CY to use our onsite material.
- 2. Contractor is responsible for all construction water.
- 3. SHPIP WRAP INSURANCE INCLUDED @ 2.5%
- 4. Identify any discrepancies between Engineers Quantities vs Contractor Quantities
- 5. Identify any missed bid line items as an Alternative Line Item
- 6. Grading 100% Complete.

Credit Per CY Per NOTE 1

Credit for using material provided by Town per NOTE 1 (Mat. &			П		
Hauling by Town)	1	CY	\$	(55.00)	\$ (55.00)
Additional Line Items Found on Plan - Alternative Line Items per NOTE !	i.				
Site Survey	1	LS	\$	26,250.00	\$ 26,250.00
Remove Storage Sheds	11	EA	\$	1,260.00	\$ 13,860.00
Remove Storm Culvert	1	EA	\$	368.00	\$ 368.00
Demo Fence	307	LF	\$	15.75	\$ 4,835.25
Demo Smoking Area	1	EA	\$	1,970.00	\$ 1,970.00
Demo FES	3	EA	\$	315.00	\$ 945.00
Demo CPP	17	ŁF	\$	21.00	\$ 357.00
Demo RCP	27	LF	\$	21.00	\$ 567.00
Demo Trees	4	EA	\$	788.00	\$ 3,152.00
Demo 701 SY of Trees and Vegetation Near Property Line	1	LS	\$	23,100.00	\$ 23,100.00
Relocate Water Tank	1	EA	\$	788.00	\$ 788.00
Relocate Satellite Dish	1	EA	\$	475.00	\$ 475.00
Relocate Sign	1	EA	\$	475.00	\$ 475.00
Demo Gravel and Haul Away	1870	SY	\$	13.45	\$ 25,151.50
Type II Bedding	112	SY	\$	47.25	\$ 5,292.00
ADA Parking Symbols	5	EA	\$	370.00	\$ 1,850.00
Mobilization/Overhead for Erosion Control	1	LS	\$	3,670.00	\$ 3,670.00



SECTION 00410

BID BOND

KNOW ALL MEN BY THESE PRESENTS: That we, the	e undersigned,
Elite Industries, Inc. , of the City of	of Castle Rock County of
Douglas, and State of Colorado	(hereinafter called "Principal") as Principal and
RLI Insurance Company	(hereinafter called
"Surety") as surety, a corporation organized and existing under a <u>Illinois</u> and authorized to do business within principals, are held and firmly bound unto Town of Elizabeth (he	n the state of Colorado and to act as surety on bonds for
Ten Percent of Amount Bid and No/100 Dollars	Dollars (\$ 10% of Amount Bid) in
lawful money of the United States, for the payment of which surrourselves, our heirs, executors, administrators, successors and	n, well and truly to be made, the Principal and Surety, bind

WHEREAS, Principal has submitted a Bid Form (Proposal) to enter into a certain written agreement with Owner for Construction of PROJECT, hereinafter referred to as "Agreement".

NOW, THEREFORE, the condition of this obligation is such that if (1) Owner shall accept the Bid Form (Proposal) of the Principal and Principal shall faithfully enter into Agreement with the Owner in accordance with the terms of such Bid and give such Bonds as are specified in the Bidding or Contract Documents, or (2) in the event of the failure of Principal to enter such Agreement and give such Bond or Bonds, if Principal shall pay to Owner the difference not to exceed the sum hereof between the amount specified in said Bid and such larger amount for which Owner may in good faith contract with another party to perform the work covered by said Bid, then (3) this obligation shall be null and void, otherwise to remain in full force and effect. The sum of this Bid Bond is not less than 10% of the Principal's Bid.

The sum of this Bid Bond is Ten Percent of Amount Bid and No/100 Dollars (10% of Amount Bid), and subject to the conditions stated above, shall be forfeited to Owner in its entirety upon failure of Principal to perform as contemplated in clause (1) or (2) herein.

The Surety, for value received, hereby stipulates and agrees that the obligations of said Surety and its Bond shall be in no way impaired or affected by any extension of the time within which the Owner may accept such Bid; and said Surety does hereby waive notice of any such extension.

Signed and sealed thisday of Ap	ril , 20 <mark>25</mark>
Witness	PRINCIPAL: Elite Industries, Inc. By: Brito BENSVO, PRESIDENT Address: 535 S. Gilbert Street Castle Rock, CO 80104
Witness	By: Megan L. Burns, Attorney-in-Fact Address: 9025 N. Lindbergh Drive
	Peoria, IL 61615 Surety's No309-692-1000

END OF SECTION

POWER OF ATTORNEY

RLI Insurance Company Contractors Bonding and Insurance Company

9025 N. Lindbergh Dr. Peoria, IL 61615 Phone: 800-645-2402

Know All Men by These Presents:

That this Power of Attorney is not valid or in effect unless attached to the bond which it authorizes executed, but may be detached by the approving officer if desired.

together, the "Company") do hereby make, constitute and appoint: Thomas W. Patton, Megan L. Burns, jointly or severally	
in the City of <u>Centennial</u> , State of <u>Colorado</u> full power and authority hereby conferred, to sign, execute, acknowledge bonds and undertakings in an amount not to exceed	its true and lawful Agent(s) and Attorney(s) in Fact, with and deliver for and on its behalf as Surety, in general, any and all Twenty Five Million Dollars
(\$25,000,000.00) for any single obligation.	Twenty Pive William Donals
The acknowledgment and execution of such bond by the said Attorney in executed and acknowledged by the regularly elected officers of the Compa	Fact shall be as binding upon the Company as if such bond had been any.
RLI Insurance Company and/or Contractors Bonding and Insurant following is a true and exact copy of a Resolution adopted by the Board of	ace Company, as applicable, have each further certified that the Directors of each such corporation, and is now in force, to-wit:
"All bonds, policies, undertakings, Powers of Attorney or other obligation the Company by the President, Secretary, any Assistant Secretary, Treas of Directors may authorize. The President, any Vice President, Sec Attorneys in Fact or Agents who shall have authority to issue bonds, pol seal is not necessary for the validity of any bonds, policies, undertakings signature of any such officer and the corporate seal may be printed by factorized.	eretary, any Assistant Secretary, or the Treasurer may appoint icies or undertakings in the name of the Company. The corporate is Powers of Attorney or other obligations of the corporation. The
IN WITNESS WHEREOF, the RLI Insurance Company and/or Con caused these presents to be executed by its respective <u>Vice Presi</u> <u>August</u> , 2023.	dent with its corporate scal affixed this 4th day of
ORPORATE SECONDORS	RLI Insurance Company Contractors Bonding and Insurance Company By:
State of Illinois SS	Barton W. Davis Vice President
County of Peoria SS	CERTIFICATE
On this 4th day of August, 2023, before me, a Notary Public, personally appeared Barton W. Davis, who being by me duly sworn, acknowledged that he signed the above Power of Attorney as the aforesaid officer of the RLI Insurance Company and/or Contractors Bonding and insurance Company and acknowledged said instrument to be the voluntary act and deed of said corporation.	I, the undersigned officer of RLI Insurance Company and/or Contractors Bonding and Insurance Company, do hereby certify that the attached Power of Attorney is in full force and effect and is irrevocable; and furthermore, that the Resolution of the Company as set forth in the Power of Attorney, is now in force. In testimony whereof, I have hereunto set my hand and the seal of the RLI
By: Catherine D. Geiger Notary Public	Insurance Company and/or Contractors Bonding and Insurance Company this 14th day of April , 2025 RLI Insurance Company Contractors Bonding and Insurance Company
CATHERINE D. GEIGER OFFICIAL SEAL Notary Public - State of Illinois My Commission Expires December 05, 2026	By: Jeffrey Dick Corporate Sccretary

SECTION 00420

BIDDERS QUALIFICATION STATEMENT

The undersigned certifies under oath the truth and correctness of all statements and of all answers to questions made hereinafter.

SUBM	ITTED TO:	TOWN OF ELIZ	ZABETH
SUBM	ITTED BY:	NAME:	ELITE INDUSTRIES, INC.
		ADDRESS:	535 S GILBERT STREET
			CASTLE ROCK, CO 80104
		PRINCIPAL OF	FICE: 535 S GILBERT STREET
			CASTLE ROCK, W 80104
DOING Other	BUSINESS AS:	[Corporation	n []Partnership []Individual []Joint Venture []
		(NOTE: A	attach separate sheets as required)
1.	How many year	s has your organ	ization been in business as a General Contractor?
	_ II YEARS	S	
2.	How many years	s has your organ	ization been in business under its present business name?
	_ II YEAR	<u>S</u>	
3.	If a Corporation,	answer the follo	wing:
	Date of Incorpor	ation: 0 (.e	01-2014
	State of Incorpor	ration: <u>ເຈເ</u>	RADO
	President:	SENO BENSK	o DQ
	Vice President(s		
	Secretary:	1	
	Treasurer: -		

	If a Partnership, answer the following:
	Date of organization
	Type of Partnership:
	Name and address of all partners:
	2
	NIA

6.	What percent of the work do you normally perform with your own forces?
	- 70'1. TO 100'1. PROTECT DEPENDENT
	List trades:
	HORIZONTAL CONSTRUCTION:
	LIGHT CIVIL, IRRIGATION + LANDSCAPE CONSTRUCTION

 $= \pi^{y} - \overline{\pi}^{x^{y^{x^{x}}}}$

•	
3 	
-	
Hove you o	wer feiled to permit a manual and a manual and to man O. If we in the stand
why:	ever failed to complete any work awarded to you? If so, indicate when, where
<u>no</u>	
<u> </u>	
	ficer or Partner of your Organization ever been an Officer or Partner of anoth In that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?
Organizatio	
Organizatio	n that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?
Organizatio	n that failed to complete a construction contract?

9.	List major construction projects your organization has under contract on this date:							
	Scheduled		Contract	Contract	%			
Project	Name Own Completion	er Architect/Engi	neer Amount	Date	Complete			
	PLEASE S	CE ATTACHED						
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
)								
10.	List major co	nstruction projects your O	rganization has comp	pleted in the past fiv	e years:			
			Contract	Contract	%			
Proiect	Scheduled Name Own	er Architect/Engi	neer Amount	Date	Complete			
	Completion	, a como sa Engl	7.1110411	Bato	Complete			
	DI GASE	SEE ATTACHED						
		SEE HI LIGHTED						
11.	List the const	ruction experience of the	principal individuals i	n your Organization	:			
		Construction Previous Position &	Present Position &	Dollar Volume	•			
Individu Experie	al's Name nce	Experience-Years	Years Experience	Responsibility	Years			

	PLEASE SEE ATTACHED
12.	List states and categories in which your Organization is legally qualified to do business:
-	STATE: COLDEADO
	(ATEGORIES: CLASS B GENERAL CONTRACTOR LICENSE
_	IRRUATION
	LANDSCAPE CONSTRUCTION
	CHIL WASTRUCTION
13.	Bank References:
	Bo the of the state of the stat
	BANK OF COLORADO - RYANI GLODEN - 970.223, 8200

14. Trade references:

5.	Name of Bonding and Insurance Companies and Name and Address of Agents: Max Bonding Capacity
	EVERGREEN SURETY - TON PATTON - 303.520.0249
1	RU INSURANCE COMPANY
	\$ 6 MILLION RANGE, \$ 15 MILLION AGGREGATE CAPACITY
6.	The undersigned agrees to furnish, upon request by the TOWN, within 24 hours after the Bid Opening, a current Statement of Financial Conditions, including Contractor's latest regular dated financial statement or balance sheet which must contain the following items:
	Current Assets: (Cash, joint venture accounts, accounts receivable, notes receivable, accrued interest on notes, deposits, and materials and prepaid expenses), net fixed assets and other assets.
	Current Liabilities; (Accounts payable, notes payable, accrued interest on notes, provisions for income taxes, advances received from owners, accrued salaries, accrued payroll taxes), other liabilities, and capital (capital stock, authorized and outstanding shares par values, earned surplus).
	oui piuo j.
	Date of statement or balance sheet:

CONDUKE AGAY GRAY FOX COLLECTIVE

By: GUEN CONOVER | DIEGO FLORES
(Agent and Capacity)

17.	Dated at this this day of
	ADRIL 20 25
	Name of Organization: EUTE INDUSTRIES, INC.
	BY: BRAD BENSKD
	Title: Paskiosm
18.	NOTARIZATION: State of County of
	DOUGLAS
	M BRAD BENSKO
	Says that he (she) is the of
	EUTE INDUSTRIES, INC.
	and that the answers to the foregoing questions and all statements therein contained are true and correct.
	Subscribed and sworn before me this <u>luth</u> day of <u>RORIL</u> , 20_25
	My commission expires: 01-26-2026 LARISSA GARCIA NOTARY PUBLIC
	STATE OF COLORADO NOTARY ID 20174005108 END OF SECTION MY COMMISSION EXPIRES JAN 26, 2026

SECTION 00430

SUBCONTRACTOR LISTING

The following information is submitted for each subcontractor that will be used in the work if the Bidder is awarded the Agreement. Additional numbered pages shall be attached to this page as required. Each page shall be headed "SUBCONTRACTOR LISTING" and signed. All work to be subcontracted over 25% in labor and/or materials shall be listed.

Portion of Work		
ব		
LETE		
124		
ermy		

Signature

END OF SECTION

SECTION 00450

MATERIAL AND EQUIPMENT SUPPLIER LISTING

The following information is submitted for each major supplier of material and each manufacturer and supplier of equipment for manufacturers and suppliers of major items of material, equipment and systems to be used in the work if the Bidder is awarded the contract.

Specification and Section No.	Material or Equipment Description	Manufacturer Supplier		
PLEASE SEE ATTACHED				
	=	•		
				

END OF SECTION

Town of Elizabeth

Addendum Description

Addendum #1 - To address missing signature sheet on bit bond, provide qty's for CD's, and provide pre-bid signup sheet.

Notice Modifications

Notice Information	From Value	To Value
No entries		

Category Modifications

Added Categories					
No Categories Added					
Removed Categories					
No Categories Removed					

Added Documents[A]

Document	Size	Uploaded Date	Language
Elizabeth Specs 07 Bid Bond.pdf [pdf]	43 Kb	03/26/2025 01:06 PM EDT	English
ToE-Main Street Depot Parking PreBidSignIn.pdf [pdf]	202 Kb	03/26/2025 01:06 PM EDT	English
ToE-Main Street Depot Parking Qty.pdf [pdf]	188 Kb	03/26/2025 01:06 PM EDT	English

04/11/2025 02:56 PM EDT

Town of Elizabeth

Addendum Description

Questions and Answers

Notice Modifications

Notice Information	From Value	To Value
No entries		

Category Modifications

Added Categories			
No Categories Added			
Removed Categories			
Temoved Oategories			
No Categories Removed			

Added Documents[A]

Document	Size	Uploaded Date	Language
ToE-Main Street Depot Lot-Question.pdf [pdf]	84 Kb	04/01/2025 10:15 AM EDT	English

04/11/2025 02:56 PM EDT Page 1 of 1



Main Street Depot Questions:

- There is an electrical post with multiple outlets located in or near the pond footprint, will this be shut off and removed or is it to be protected in place? it is not shown within the plans.
 - Shut off and removed.
- Will the smoking area in fact need to be relocated? And if so can the new location be provided?
 - o To be removed.
- Can architectural plans be provided before bid due date to provide detail on bathroom foundation and slab detail?
 - Not at this time, working through bathroom selection. Account for concrete slab at bathroom location.
- Can a detail be provided on the handrail for the stairs or will they be CDOT spec?
 - CDOT spec
- Will Equipment Idle time during the shut down be covered by the city?
 - o No, not covered on this project.
- Will tapered edges or thickened edges be required where concrete sidewalk meets the aggregate path?
 - o Thickened edges.
- Does the city of Elizabeth currently have any fill material available for use?
 - o The Town is working on this but not confirmed. Bid based on providing import.
- Is there a bid tab form or excel spreadsheet available for the bid form with QTY or SOV to bid from?
 - Has been added to BidNET.
- Is there a requirement or specification for import material for fill?
 - o CDOT Specification

Town of Elizabeth

Addendum Description

Updated Quantities

Notice Modifications

Notice Information	From Value	To Value
No entries		

Category Modifications

Added Categories

No Categories Added

Removed Categories

No Categories Removed

Added Documents[A]

Document	Size	Uploaded Date	Language
ToE-Main Street Depot Parking Qty - 2025.04.01.pdf [pdf]	188 Kb	04/01/2025 10:59 AM EDT	English

04/11/2025 02:56 PM EDT Page 1 of 1



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 2/13/2025

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).							atement on				
PRODUCER			CONTACT Terri Wroblewski								
CRS Insurance Brokerage			PHONE (A/C, No, Ext): 303-996-7800 (A/C, No): 303-757-7719								
9780 S Meridian Blvd Suite 400 Englewood CO 80112			E-MAIL ADDRESS: twroblewski@crsdenver.com								
			INSURER(S) AFFORDING COVERAGE NAIC #								
INSURED ELITIND-01						яв: Pinnacol		ПСПСД		12572 41190	
Elite Industries, Inc.						R c : Westche		Linge		10172	
	5 S. Gilbert Street astle Rock CO 80104				INSURE		oter ourplus	LIIICS		10172	
0.	1000 1000 00 10 10 10 10 10 10 10 10 10				INSURE						
					INSURE						
CO	VERAGES CER	TIFI	CATE	NUMBER: 181945666	INOUNE	181		REVISION NUMBER:			
C	HIS IS TO CERTIFY THAT THE POLICIES NDICATED. NOTWITHSTANDING ANY REFITIED OR MAY BE ISSUED OR MAY XCLUSIONS AND CONDITIONS OF SUCH	EQUIF PERT POLI	REME AIN.	NT, TERM OR CONDITION THE INSURANCE AFFORD LIMITS SHOWN MAY HAVE	OF AN'	Y CONTRACT THE POLICIES REDUCED BY F	OR OTHER I S DESCRIBEI PAID CLAIMS	ED NAMED ABOVE FOR TO DOCUMENT WITH RESPE O HEREIN IS SUBJECT TO	OT TO	WHICH THIS	
INSR		INSD	WVD	POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	S		
Α	X COMMERCIAL GENERAL LIABILITY			S2505030		3/1/2025	3/1/2026	EACH OCCURRENCE DAMAGE TO RENTED	\$1,000	,000	
	CLAIMS-MADE X OCCUR							PREMISES (Ea occurrence)	\$ 500,000		
								MED EXP (Any one person)	\$ 15,00	0	
	10000							PERSONAL & ADV INJURY	\$ 1,000	,000	
	GEN'L AGGREGATE LIMIT APPLIES PER:							GENERAL AGGREGATE	\$ 3,000	,000	
	POLICY A JECT LOC							PRODUCTS - COMP/OP AGG	\$ 3,000	,000	
A	OTHER: AUTOMOBILE LIABILITY			COFOFOO	_	0///0005	0///0000	COMBINED SINGLE LIMIT	\$		
^	X ANY AUTO			S2505030		3/1/2025	3/1/2026	(Ea accident)	\$1,000	,000	
	OWNED SCHEDULED							BODILY INJURY (Per person)	\$		
	X HIRED X NON-OWNED							BODILY INJURY (Per accident) PROPERTY DAMAGE	\$		
	AUTOS ONLY AUTOS ONLY						(Per accident)	\$			
A	X UMBRELLALIAB X OCCUR			S2505030		3/1/2025	3/1/2026	ELAU OCCUPATIVAT			
	EXCESS LIAB CLAIMS-MADE			02300000		3/1/2023	3/1/2020	EACH OCCURRENCE	\$ 3,000		
	DED X RETENTION \$ 50							AGGREGATE	\$ 3,000	,000	
В	WORKERS COMPENSATION			4187389	-	11/1/2024	11/1/2025	X PER OTH-	\$		
	AND EMPLOYERS' LIABILITY ANYPROPRIETOR/PARTNER/EXECUTIVE							E.L. EACH ACCIDENT	\$ 1,000.	000	
	ANYPROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory In NH)	N/A						E.L. DISEASE - EA EMPLOYEE			
	If yes, describe under DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMIT	\$ 1,000		
A C	Leased & Rented Equipment			S2505030		3/1/2025	3/1/2026	Limit	200,0	00	
C	Pollution Liability			G74452784 003	3/1/2025		3/1/2026			2,000,000 1,000,000	
DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) A waiver of Subrogation applies to the Workers compensation coverage.											
CEI	RTIFICATE HOLDER				CANC	ELLATION					
For Information Only					SHOI THE ACC	JLD ANY OF T EXPIRATION ORDANCE WIT	DATE THE	ESCRIBED POLICIES BE CA REOF, NOTICE WILL E Y PROVISIONS.			
	1 of Information Only			AUTHORIZED REPRESENTATIVE							

OFFICE OF THE SECRETARY OF STATE OF THE STATE OF COLORADO

CERTIFICATE OF FACT OF GOOD STANDING

I, Jena Griswold, as the Secretary of State of the State of Colorado, hereby certify that, according to the records of this office,

ELITE INDUSTRIES, INC

is a

Corporation

formed or registered on 01/01/2014 under the law of Colorado, has complied with all applicable requirements of this office, and is in good standing with this office. This entity has been assigned entity identification number 20131709901.

This certificate reflects facts established or disclosed by documents delivered to this office on paper through 04/10/2025 that have been posted, and by documents delivered to this office electronically through 04/11/2025 @ 13:14:00.

I have affixed hereto the Great Seal of the State of Colorado and duly generated, executed, and issued this official certificate at Denver, Colorado on 04/11/2025 @ 13:14:00 in accordance with applicable law. This certificate is assigned Confirmation Number 17195619



Secretary of State of the State of Colorado

Notice: A certificate issued electronically from the Colorado Secretary of State's website is fully and immediately valid and effective. However, as an option, the issuance and validity of a certificate obtained electronically may be established by visiting the Validate a Certificate page of the Secretary of State's website, https://www.coloradosos.gov/biz/CertificateSearchCriteria.do entering the certificate's confirmation number displayed on the certificate, and following the instructions displayed. Confirming the issuance of a certificate is merely optional and is not necessary to the valid and effective issuance of a certificate. For more information, visit our website, https://www.coloradosos.gov.click "Businesses, trademarks, trade names" and select "Frequently Asked Questions."

Form • **W-9** (Rev. October 2018)

(Rev. October 2018) Department of the Treasury Internal Revenue Service

Request for Taxpayer Identification Number and Certification

► Go to www.irs.gov/FormW9 for instructions and the latest information.

Give Form to the requester. Do not send to the IRS.

	1 Name (as shown on your income tax return). Name is required on this line: d	o not leave this line black		_				_	_		_	_		
	Name (as shown on your income tax return). Name is required on this line; do not leave this line blank. Elite Industries, Inc.													
	Business name/disregarded entity name, if different from above							_	_					
page 3.	of the person whose name is entered on line 1. Check only one of the following seven boxes.								4 Exemptions (codes apply only to certain entities, not individuals; see					
ns on	Individual/sole proprietor or C Corporation S Corporation Partnership Trust/estate single-member LLC									instructions on page 3): Exempt payee code (if any)				
ğ işi	Limited liability company. Enter the tax classification (C=C corporation, S=S corporation, P=Partnership) ▶													
Print or type. See Specific Instructions on	Note: Check the appropriate box in the line above for the tax classification LLC if the LLC is classified as a single-member LLC that is disregarded from the owner for U.S. federal tax points in the surface of the size of	ification of the single-member owner. Do not check urded from the owner unless the owner of the LLC is all tax purposes. Otherwise, a single-member LLC that						Exemption from FATCA reporting code (if any)						
Ġ.	☐ Other (see instructions) ►					(Applie	(Applies to accounts maintained outside the U.S.)							
S ₂	5 Address (number, street, and apt. or suite no.) See instructions.		Reques	ter's	name	and ad	Idress (optio	nal)			-		
See	535 S Gilbert Street													
0,1	6 City, state, and ZIP code													
	Castle Rock, CO 80104													
	7 List account number(s) here (optional)								-			-		
1														
Part	Taxpayer Identification Number (TIN)								-	-		_		
Enter y	our TIN in the appropriate box. The TIN provided must match the name	ne given on line 1 to avo	oid	Soc	cial se	curity	numbe	r	_		-			
backup	o withholding. For individuals, this is generally your social security num	ber (SSN), However, for	ra j						Г	T				
entities	nt alien, sole proprietor, or disregarded entity, see the instructions for f , it is your employer identification number (EIN). If you do not have a r	Part I, later. For other	,			-								
TIN, lat	er.	idiliber, see riow to get		or			LL	_	_					
Note: I	f the account is in more than one name, see the instructions for line 1.	. Also see What Name a	nd [Em	ploye	er identification number								
Numbe	r To Give the Requester for guidelines on whose number to enter.		Ì					T	T	T				
				4	6	- 4	2 1	3	5	1	6			
Part	II Certification													
Under	penalties of perjury, I certify that:											_		
1. The	number shown on this form is my correct taxpayer identification numb	er (or I am waiting for a	numbe	r to	be is:	sued t	o me);	and						
2. I am Serv	not subject to backup withholding because: (a) I am exempt from bac ice (IRS) that I am subject to backup withholding as a result of a failure inger subject to backup withholding; and	kup withholding, or (b)	have n	ot h	een r	otified	hy th	e Inti	erna fied	Revi	enue at la	am		
3. I am	a U.S. citizen or other U.S. person (defined below); and													
	FATCA code(s) entered on this form (if any) indicating that I am exemp	ot from FATCA reporting	is com	ect.										
	ation instructions. You must cross out item 2 above if you have been no				lveub	iect to	hacku	n wii	hhol	dina	20021	LICO		
you hav acquisit	e failed to report all interest and dividends on your tax return. For real est ion or abandonment of secured property, cancellation of debt, contribution an interest and dividends, you are not required to sign the certification, but	ate transactions, item 2 o ons to an individual retire	does not ment an	t apj rand	oly. Fo	r mort	gage in	ntere	st pa	aid, navm	ents	726		
Sign Here	Signature of U.S. person ▶	D	ate ►	01.	01.2	025								
Gen	eral Instructions	• Form 1099-DIV (divi	dends,	incl	uding	those	from	stock	s or	muti	ıal	_		
Section noted.	references are to the Internal Revenue Code unless otherwise	funds) • Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)										i		
Future developments. For the latest information about developments related to Form W-9 and its instructions, such as legislation enacted		Form 1099-B (stock or mutual fund sales and certain other transactions by brokers)												
arter the	ey were published, go to www.irs.gov/FormW9.	• Form 1099-S (proce	,	nn re	al est	ate tra	ansacti	Опеј						
Purp	ose of Form	• Form 1099-K (merch							tran	sactic	ne)			
An indiv	idual or entity (Form W-9 requester) who is required to file an tion return with the IRS must obtain your correct taxpayer	• Form 1098 (home m 1098-T (tuition)										,		
identific	ation number (TIN) which may be your social security number	• Form 1099-C (cance	eled deh	ot)										
	ndividual taxpayer identification number (ITIN), adoption	• Form 1099-A (acquis		,	ndon	ment d	of secu	red r	oron	ertv)				
(EIN), to	r identification number (ATIN), or employer identification number report on an information return the amount paid to you, or other reportable on an information return. Examples of information	Use Form W-9 only alien), to provide your	if you a	re a	U.S.					-	nt			
returns i	nclude, but are not limited to, the following. 1099-INT (interest earned or paid)	If you do not return be subject to backup	Form W	/-9 t	o the							t		

later.